Prairie Dog (Black-tailed)
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- Enter the followin . RS
g Bark Freq of Black-Tailed

data in your calculato
and perform linear

regression on the - Distance |  Bark |
data comparing the _From burrow | Frequency
= distance of a threat in 10.00 | 81
€ &, . feet to the barks per 20.00 ks
¢ 3 30 seconds 3000 /8
. 4 40.00 73
* Write the linear 50.00 | -
equation 60.00 | 7
70.00 | 59
80.00 71
: 90.00 67
-y kleollect 100.00 | 64
' 1 10.00 37
ork 120.00 | 55
puter output 13000 41



https://www.youtube.com/watch?v=icaGIeOY9gc
https://www.youtube.com/watch?v=icaGIeOY9gc

Homework: p p239 (5, 6)

5. Models.

a)

e)

Iny=12+08x b)

In$=1.2+0.8(2)

Iny=2.8
P=e*®=16.44

logy=1.2+0.8logx

logy=1.2+0.8log(2)

log vy =1.440823997...
5 = 7(14408..

$=27.59

\/’?: 12+08x ©) %: 1.2 +0.8x d $=12+08Inx
: 5 .
\’/\A‘ =1.2+0.8(2) 1 y=1.2+0.8In(2)
: —=12+0.8(2 b=
\/)7: 8 5 (2) y=il75
& _ g2 _ A
y=28"=7.84 258
3
VE X =(.36
- 28

@



Homework: p p239 (5,

6. More models.

a)

d)

y=12+0.8logx b)  log3=12+0.8x
v=12+0.8log(2) log$=1.2+0.8(2)
$=10%% = 630.96

A2
7°=1.2+0.8x e)
- i =1.2+0.8x
y7=28 L 1240, 8(2)

—=12+
7 =+2.8=1.67 J}

1
— =28

6)

c) Inp=1.2+0.8Inx
Iny=1.2+0.8In(2)
Inp=1.7545...

~ 1.7545.. -
"].f' = = 378



te Xit of Bark Freq By Distance
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Below is the computer output for the.appraised value and the number
of rooms for houses in East Meadow, New York.

/\ e -
The regression eguacion is \odueg = 74'8 - \O\"7|8"OOW\S
| | S 74.% 4\ T8¢ Q)

Predictaer Coei Stdev r-ratio
i SR
ToOmS ” : 2 . .
< «\33 ]
g = 29 03 R-sg=\ &3.8% C* ‘ob\ B~ sq{adj/)#ﬁﬂ 0%
" X/ F—
Analvzis of Variance ("¢ - (’»VO«JL \cﬁﬁl 1
‘? { |
r SOURCE R

Kegress lon
Error




The relationship between hours
of watching television in a typical

day and age was examined. The

data was gathered in the 1996
general Social Survey done by

the National Opinion Research | —

Center at the University of
Chicago.

* What is the estimated increase in average

/

Predictor {oef SE Loef

{onstant 2.1899 0.1877
( age 0.017255 0.003348
\

§=2371  (RSq= 1.4%

T P
13.89 0.000
5.15 0.000

R-Sg{adj) = 1.3%

daily hours of television watching for each

one-year increase in age?

O.0l7

* Write the regression equation for the

output. houcs = J+16 + 0.01Tagt

* How reliable to you find this model?
Why/why not?




Homework

“FRAPPY”

{Free Response AP Problem...Yay!}

2003

. Problem #1

The following problem iz taken from an achaal Advanced Placement Statistics Examination.
Your tazk is to Zemeraie 2 complete, concise statistical response m 15 mimntes. Youw will be zraded

bazed on the AP mubric and will sam a scooe of 0-4. After srading, keep this problem in your binder

for your AP Exam preparation.

A simpla random sample of 9 stodents was selected from a large university. Each of these students
regarted the munber of hours he or she had sllocated to studying and the pumber of hours zllacated
to work ezch week. A lesst squarss regreszion was performed and part of the resulting compuater

outpat is shown balow.

L

Predictor
Constant
Work
5=4349

Coct Siley T P
R.107 2731 297 0,021
04919 0. 1950 2.52 0,040

R-Sq =47.6%  R-Sq (adj) = 40.1%

Scoring:

The scatterplot displays the dats that were collected from
the 9 stodents.

Pe

(28) After poimt P, Labeled on the graph, was removed

L[] 0 L]
Wik

from the dzta, 3 second linear regrassion was performed znd the computer output is shovm

balonar.

Predctor Coef StDev T
Constant 11,123 1986 279
Work 01500 03834 0,39

§=4.327 R-Sq =256  R-Sqfadj) = 0.0%

P
0032
0709

Dioes point P exercize & large infloence on the regression line? Explain.

(b} Tha researcher who condnctad the srudy
dizcoverad that the number of hours spent 1%
smdying regarted by the shident repressntad by P
was recorded mcarrectly. The comrectad data k)
point for this smdent is rapresanted by lemer Qin 9
the scattarplat.

Explain how the least squares regression line for B
the corrected data (in this part) wouald differ from ’
the least sguares regression line for the oniginal

data.

* Q.

I ] M
Work




